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1 

3 

4 

Ine length of a cold storage is double its1 v it JTR Js Gt sTS 

breadth. Its height is 3 metres. The area of 

its four walls (including doors) is 108 m'. 
Its volume will be 
(A) 206 m³ 

SECTION-I 
MATHEMATICS & SCIENCE 

() 216m² 

(A) 24 

(c) 36 

If x =3-2v2. then x'+ 

kg is 
(A) 1.92 Joule 

(C) 9.6 Joule 

(4) CH,CHO 

(8) 416 m³ 

A bomb of mass 9 kg explodes into 2 pieces3. 
of mass 3 kg and 6 kg. The velocity of mass 3 
kg is 1.6 m/sec. The kinetic energy of mass 6 

(9 CH,OH 

(D) 316 m³ 

(B) 30 

(A) 2% 

(D) 34 

(C) 8% 

Which of the following behaves both as4. 
nucleophile as well as an electrophile? 

1 will be 

(B) 3.84 Joule 

(D) 2.92 Joule 

(B) CH,CN 

(D) CH,Cl 

mass and speed are 2% and 3% respectively. 
The error in the estimate of kinetic energy 
obtained by measuring mass and speed will 
be 

(B) 12% 

(D) 10% 

(A) 

2. f 

(C) 

(A) 24 

(C) 36 

206 3 

216 3 

3 kg sirr 6 ka 

(A) 

(A) 1.92 T 

(C) 

(C) 9.6 gG 

YT1 - I 

Page: 2 

x=3- 2V2 ET G x2+ 

3 ka g4T I tT 1.6 

CH, CHO 

CH,OH 

(A) 2% 

(B) 

(C) 8% 

(D) 

(B) 30 

(D) 34 

416 3 

à Gosi 

316 

(B) 3.84 

(B) 

5. Percentage errors in the measurements of5. gaHT R T HI47 o4RE 2% 

(D) 

(D) 2.92 v 

. 
À ̀caI | 

CH, CN 

CH,CI 

(B) 12% 

(D) 10% 

I 6 ka 

6243 



6 A 25 watt -220 volt bulb and a 100 watt6 25 qTe -220 iec al q oa t 100 
-220 volt bulb are joined in series and 
connected to the mains. Which bulb will 

glow brighter ? 

7 

(A) 100 watt bulb 

(B) Both will glow with same brightness 
(C) First 25 watt bulb and then 100 watt 

bulb 

(D) 25 watt bulb 

Real value of x and y, if 

(A) -10, 12 

(c) -2, 5 

(A) Vertical 

(C) Horizontal 

(A) 44.4 M 

(c) 55.55 M 

(B) 7, -7 

(D) -4, 6 

(D) Inclined at 45° to the horizontal 

3+i 

(A) 6570 m? 

(C) 7560 m? 

y-1 
3-j 

(B) Bent slightly 

(B) 45.55 M 

(D) 66.66 M 

10. The perimeter of a triangular field is 450 m 
and its sides are in the ratio 13 : 12:5. The 
area of the triangle 

(B) 

(D) 

8. At the magnetic poles of the earth, a 8. yect qy gt qñ y H t 
compasS needle will be 

-=i 

6750 m² 

7. 

5670 m? 

(A) 100 ac I 4a 

(C) Y8t 25 qTE oI og f 100 Te T 

(D) 25 qIc T 

9. The molarity of pure water is (density of. yE HRGI ( I gTA = 1 
water = 11 gm L') 

(A) -10, 12 

(C) -2, 5 

(c) 

x-1 

3+i 

gm L-') 

(A) 

(A) 44.4 M 

(C) 55.55 M 

(C) 

+ -=j ii x 30R y 
3-i 

Page:3 

y-1 

(B) 7, -7 
(D) -4, 6 

10. yo fayuoR d I RHrs 450 
TeT SHt yu13d I 414G 13 : 12 : 5 

6570 2 

7560 

(B) 45.55 M 

(D) 66.66 M 

(B) 

(D) 

6750 2 

5670 

624315 



11. A body cools from 80 °C to 64 C in 5 1. o oÊ 80°c 64 °C Go GUGT 5 

minutes and same body cools from 80 °C to 
52 °C in 10 minutes. What is the 

temperature of surroundings ? 
(A) 25°C 

(C) 24 °C 

(A) 1 cm 

penetrating 3 cm in a wooden block, then 
how much will it penetrate more before 
coming to rest ? 

(C) 2 cm 

5 

(B) 22°C 

13 The number of moles of KMn0, that will 13. 

(C) 2 

(D) 28 °C 

be needed to react completely with one 
mole of ferrous oxalate in acidic solution is 
(A) 3 

5 

12 If a body loses half of its velocity on 12. yf yo qHa �ost yo Go$ y 3 

(A) 30 cm 

(B) 4 cm 

(D) 3 cm 

() 40 cm 

(B) 4 

14. Three masses are placed on the x-axis : 300 

gm at origin, 500 gm at x= 40 cm and 400 

gm at x=70 cm. The distance of the centre 
of mass from the origin is 

(D) 1 

(B) 45 Ccm 

(A) 

(D) 50 cm 

(C) 

25 °C 

(C) 2 cm 

(A) 3 

24°C 

far4ITRT 3AT GTY ? 
(A) 1 Cm 

KMn04 

5 

(c) 2 

(B) 

(D) 

(A) 30 . 

Page: 4 

(C) 40 Ì. 

22 °C 

28 °C 

(B) 4 cm 

(B) 4 

(D) 3 cm 

(D) 1 

14. T GH y-H 4R, 300 gm T H 

fa- 4R, 500 gm oi x = 40 I q 

TeT 400 gm i x = 70 T 

(B) 45 . 

(D) 50 

624315 



15 

IUPAC name of 

is 

(A) 1-Ethoxy propan-2-ol 

(8) 3-Ethoxy propan-1-ol 
(C) Ethoxy pentanol 

16 In a AABC, AB = 

(D) 2-hydroxy-3-pentanone 

(A) 45° 

(C) 120° 

CH, -CH-CH, -0C,Hs 

BC = 6 cm, then the angle B is 
(B) 60o 

(C) 1 
m/sec 

released, what is the speed of the bob as it is 
passes through the lowest point in its path ? 
(A) 4.43 m/sec (B) v2 x9.8 m/sec 

value is 

OH 

(A) 46 seconds 

(D) 90° 

6V3 cm, AC = 12 cm and 16. y fa 

concentration of the reactant to 

(D) 2 seconds 

(D) 2 m/sec 

(B) 4.6 x 10- seconds 

(C) 4.6x 10- seconds 

15 CH,-CH- CH, -OC,Hs 

1 th 

(B) 3-qetÍ T-3ti 

16 

(D) 2-816gr0-3-eit1 

OH 

AC = 12 

(A) 

(c) 

17 If pendulum bob on a 2 metre string is17. aft y# ge aia t 2 t t 
displaced 60° from the vertical and then 

45° 

120° 

(A) 4.43 A. 

(C) 1 

AABC , AB = 

V2 

Page: 5 

18 The rate constant for the first order reaction 18. yt af yo afh 
is 60 s-1. The time in which it reduce the 

(A) 46 HougH 
(B) 4.6 x 10- pUgT 

(C) 4.6 x 10 UgH 

BC = 

(D) 2 ihUgI 

(D) 

(B) 60° 

(B) 

T IUPAC HI4 

(D) 

6 

1 th 
16 

90° 

6V3 4, 

r 

V2 x9.8 

624315 



19 An artificial satellite moving in a circular 19 ya afaH J4WE P¦i R0 R 
orbit around the earth has total energy PE + 
KE] E.Its potential energy is 

21 

(A) 2 Eo 
(C) 1.5 E, 

(A) 0.693 

(C) [A]o 

K 

2K 

(A) NaCiaq) 

(C) Cu metal 

20 The half-life period for a zero order reaction 20. y I i sffbYT fery 3 Y 
is equal to 

(B) E, 

(D) -Eo 

(D) CçHs + CH, 

(B) 

the other reactants are 

3 

(C) Tt 
3 

2K 

(D) 0.693 

() CçHs + CH,COCl 

[AJo 

K[AJ, 

(B) NaCl(s) 

(D) 

(A) CçHe + NH3 (8) CçH + CH,CI 

NaCI (molten) 

23 if tan x + secx = V3, such 

0<x < , then xis equal to 
(A) 2Tt (B) 1 

6 

(A) 

(C) 

(D) 5T 

6 

(C) 

(A) 0.693 

Which of the folowing is not a good 21. fffa À oH HTG# T80 ? 
conductor ? 

(A) 

(B) 

2 Eo 

(A) NaCl(aq) 

(c) 

1.5 E, 

(C) Cu ig 

(D) 

that 23. yf 

(A) 

22 In Friedel Crafts alkylation, besides AiCla,22. vsI I4E yocoleioUT ALCL, 

(C) 

[Al, 

Page: 6 

K 

2K 

CçH, + NH, 

(B) 

CçH, + CH,Cl 

CçH + CH, 

(D) 

2Tt 

3 

TL 

3 

(B) 

(D) 

CçH, + CH, COCI 

Eo 

-E, 

2K 

(AJo 

(B) 

0.693 

(B) NaCl(s) 

(D) 

K[AJo 

(D) NaCl (tu gn) 

tan x t secx = V3, UI 

6 

5T 

6 

6243 



24. A convex lens is in contact with concave 24. c5 Bdg H 4dd I HHO H I 

lens. The magnitude of the ratio of their 

focal lengths is Their equivalent focal 
3 

length is 30 cm. What are their individual 

focal lengths in cm? 
(A) -75, 50 

28 

(C) -10, 15 

(A) 5 

(C) 

108 

5 

216 

25. In a single throw of three dice, the25. y0 yod sold d T 5 

property? 

(B) Optical activity 

2 

(B) -15, 10 

and B(3, -8) ? 

(D) 75, 50 

(A) 4 :9 
(c) 4:5 

(B) 1 

(A) Relative lowering in vapour pressure 

(D) 

() Depression in freezing point 

(D) Elevation in boiling point 

(A) n =3, r = 2 

(C) n=5, r= 4 

36 

1 

216 

26. Which of the following is not a colligative 26. fffraT 

IfP, ="P and 
then the values of n and r 

(B) 3:7 

(D) 2:7 

^C,="Cr-1' 

2 

(B) n= 4, r=5 

3 

(D) n = 2, r=3 

(A) -75, 50 

(C) -10, 15 

28. 

(A) 

z In what ratio does the point (-4, 6) divide 2. t argst A-6, 10) 
the line segment joining the points A(-6, 10) 

(C) 

5 

108 

5 

216 

(A) n 

g I raris 

(A) 4 : 9 

(C) 4:5 

Page:7 

(B) ya1îty fhyreetlI 

(B) 15, 10 

aft nP. ="P 

(D) 75, 50 

(A) qeqIg I 3T4t 3J44 

(B) 

= 3, r = 2 

(C) n = 5, r = 4 

(D) 

U0e U T0 -

1 

36 

1 

(B) 

216 

FI B(3, -8) 
fag (-4, 6) foI 

(8) 3 : 7 

(D) n 

(D) 2 : 7 

n 

nc, ="C1 

4, r = 5 

2, r = 3 

624315 
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29. A small metal ball is suspended in an 29. g1 Bt G g6 ót 

uniform electric field with the help of an 

insulated thread. If a high energy Xray 
beam falls on it 
(A) The ball will be deflected opposite to the 

direction of field. 

(B) The ball will not deflected at all. 
(C) The ball 
(D) The ball will be deflected in the direction 

of field. 

30. The water droplets in free fall are spherical30. 
due to 

(A) Gravity 
(c) Surface tension 

(D) Intermolecular attraction 

(A) 

31. Root of the equation 3x+ 7ix + 6 = 0 

(c) 

-3i.4 

(A) K 

will move to infinity. 

3 

3i.z 

2 

(C) K 

4 

(B) Viscosity 

(A) Kt 

(C) NH 

(B) 3i, 2i 

(D) 

horizontal with a kinetic energy K. The 
kinetic energy at the highest point is 

2i,i 
2 

(B) K 

2 

(D) zero 

31. 

(B) faaft zft | 

(B) Nat 

(D) Cu2+ 

(0) 34RTSJUjC5 Ihcu 

TAARUT 3x2+ 7ix + 6 = 0 Ho E 
(A) 

(c) 

32. A particle is projected at 60° to the32. y Uj K ft Bf f t 60° 

-3 

(A) K 

(c) K 

4 

(A) 

(C) 

3 

2 

Page: 8 

(B) gIGI 

K+ 

(B) 3i, 2i 

NH 

(D) 

33. Nessler's reagent is used for the detection of33. HIRH Í I GY YaI 

(B) K 

(D) 

2i,�i 

(B) 

2 

(D) 

2 

3 

Nat 

Cu2+ 

62. 



34. The work done in placing a charge of 

35 

8 x 10-18 Coulomb on a capacitor of 
capacity 100 microfarad is 
(A) 16 >x 10-32 joule 

(B) 3.1 x 10-26 Joule 

(C) 4 x 10-1° joule 

(D) 32 >x 10-32 Joule 

The nucleus resulting from 

four B-particles is 

successive emission of two aparticles and 

(A) 

() 

23°pu 

(A) 36 

94 

(9 37 

in 5 mirnutes. 

(A) 154 

6 

(C) 154 

12 

(B) 230 

3¬ The value of x in the following series : 

1+6+11 + 16+.... *= 148 

2 

(D) 

Cm2 

o Th 

239U 92 

(B) 39 

(D) 38 

92 

(B) 154 

(D) 154 

3 

U after 

cm² 

cm? 

8 x 10-18 peH I 3T¢9 pt 

(A) 

(B) 

(C) 

(D) 

35. 238 

92 

(A) 

(C) 

U 

(A) 36 

(C) 37 

(A) 

(c) 

16 x 10-32 GT 

3.1 X 10-26 g 

37 The length of the minute hand of a clock is 37. ya yt fAe, ATeft y AIE 4 
14 cm. The area swept by the minute hand 

Pag:9 

4 X 10-10 vT 

1 + 6 + 11 + 16 + 

32 x 10-32 [e 

Pu 

88' 

154 

6 

154 

(B) 

12 

(D) 

(B) 39 

(D) 38 

Th 

.... + x = 148 

(B) 

234U 

(D) 

92 

154 

9 

154 

624315 

cm 



38 Which of the following does not have a 3a -taA 
metal carbon bond? 

(A) K[Pt(C,H,) CI,] (8) Ni(CO), 

(c) Al(0C,H,) 

39 Which ore contains both iron and copper ? 
(A) Chalcocite (B) Chalcopyrite 
(c) Malachite 

(D) C,H5 Mg Br 

40 If the arcs of same length in two circles 
subtend angles of 60° and 75° at their 

(A) 7:8 

(D) Cuprite 

centres, then the ratio of their radii 

(C) 6:7 

(B) 4:7 

(D) 5:4 

(A)K[Pt(C,H,) Cl,] (B) Ni(CO), 
(D)C,H, Mg Br () Al (OC,H,), 

(A) qTechI^E 
(C) A^E 

(A) 7 : 8 

grg-ard dy Ti 

40. TIH1 TaS y grÌ r q 

(c) 6 : 7 

Page: 10 

(B) IccoYrRIgE 
(D) 

(B) 4 :7 

(D) 5: 4 

6243 



315 

41. Which one of the following is a natural41. 
fibre? 

SECTION-| 
TEXTILE TECHNOLOGY 

(A) Polyester 

(C) Viscose Rayon 

42. Beesley's yarn 
determining ? 
(A) Elongation 

(C) Strength 

43. Highest elastic yarn is 
(A) Polyester 

(c) Cotton 

(D) None of these 

(B) Cotton 

balance 

(D) Nylon 

(A) Australia 

(C) India 

(A) To remove short fibres 

(B) To remove long fibres 

(B) Count 

(c) To remove impurities 

(C) 360° 

(D) Twist 

is used 

(B) Lycra 

(D) Silk 

47 Density of silk fibre is 

45. In which country, Marino wool found? 

44. In spinning process, combing machine is 4. HIS yfhei , ofta HyitT I ur 
used 

(B) U.S.A. 

46. One cycle of loom completes in 
(A) 90° 

(D) Sri Lanka 

(B) 180° 

(D) 270° 

(A) 1.33 gms/cm³ (8) 2.33 gms/cm 

() 3.33 gms/cm³ (0) 4.33 gms/cm³ 

(A) ifeyR 

46 

(A) ifoyer 
(c) qTT 

(D) TÍ 

(A) sifTAI 
(C) HT 

(A) 

(C) 

(A) 

(C) 

Page: 11 

90° 

360° 

(B) 

3.33 Ta/àt 

(D) N0H 

(B) THc 
(D) 

(B) IISsat 

II 

(D) c 

(B) yI.Y. 

(D) sftefI 

(B) 

(D) 

1.33 /àf (B) 

(D) 

180° 

270° 

2.33 ma/at 

4.33 ma/ at 

624315 



48. The desizing process mainly removes 
(A) Wax 

(C) Natural impurities (D) Starch 

(A) Cotton 

49. Which one of the following is cellulosic 49. 

fibre? 

(c) Silk 

is 

(A) Tex 

(c) D 

51. EPI stands for 

(A) Ends Per Inch 

denoted by 
(A) Tex 

(B) Yellowness 

(C) Nm 

50. Number of Hanks of 840 yards in one pound|50. 840 yIs Vo YoS H 6 t iI 

(C) Ends Per half Inch (D) None of these 

remaining constant ? 
(A) Plain 

(B) Nylon 

(D) Polyester 

(C) Matt 

(B) Nm 

(A) 7 

(D) Ne 

(C) 5 

(B) Ends Per two Inch 

52. Weight in grams of 9000 metres of yarn is 52. 9000 r �rt 

(B) D 

(D) Ne 

54. pH value of pure water is 

48. 

(B) Twill 

(D) Satin 

(A) H 

(B) 6 

(D) FZTd 

(D) 8 

(A) 4T 

(C) fToco 

(A) Tex 

(C) D 

|51. EPI 34 

53. Which one among the following weaves has53. fff oH fg ISI 
the highest tensile strength, all other factors 

(A) Tex 

(C) Nm 

(C) 

(A) 7 

(B) tIq7 

(C) 5 

(B) riT 

Page: 12 

(o) ifyer 

(B) Nm 

(D) Ne 

(B) D 

(D) Ne 

(8) ctd 
(D) f 

(B) 6 

(D) 8 

6243 



$s Which one of the following fibres is highly 56. ffafta o H 
lustrous ? 

(A) Silk 

(C) Cotton 

(A) D 

56. English count is represented by 

(C) Nm 

(A) Ringframe 

(C) Drawframe 

(A) 1.15 gm/cc 

(C) 0.85 gm/cc 

s9 Muga Silk is found in 
(A) Uttar Pradesh 

(C) Tamil Nadu 

58 Density of polyester fibres is 

(B) Nylon 

(D) Jute 

57. Which one of the following machine is 67. fAff H Ì osiIZ 
known as 'Heart of Spinning' ? 

as 

(B) Tex 

(A) Waxing 

(D) Ne 

() Singeing 

(B) Carding 

denoted by 
(A) Nm 

(D) Blow room 

(c) Tex 

60. Density of cotton fibre is 

(B) 1.45 gm/cc 

(A) 1.54 gms/cm³ (B) 2.54 gms/cm 

(D) 1.54 gm/cc 

() 3.54 gms/cm (o) 4.54 gms/cm 

(B) Madhya Pradesh 

(D) Assam 

56. 

(B) Desizing 

(D) Sizing 

(A) fT 

59. 

(B) D 

(D) Ne 

(C) hqRT 

(A) D 

(C) Nm 

(A) fT 

(A) 1.15 T=/è 

(C) 0.85 I=/tt 

(A) GTR YT 

(c) tfAeIE 

(A) 1.54 aa/|t 

(C) 3.54 at 

(A) afriT 

(c) Rif0T 

(B) AH 

(p) 

61. The process of removing loose hairy fibres 61. y$ t HE qR d fio EY o 
projecting from surface of the cloth is known 

(A) Nm 

(C) Tex 

(B) Tex 

Page: 13 

(D) Ne 

(B) fsT 

(B) 1.45 =/àut 

(D) 1.54 IE/àf 

(B) H yI 

(D) 34TH 

62 Weight in grams of 1000 metres of yarn is62. 1000 1R Y I HR UH À T GIGI 

(B) 2.54 Ia/àt 

(D) 4.54 H/àt 

(B) fISfti 
(D) Ig 

(B) D 

(D) Ne 

624315 



63. Which one of the following weave gives63 
diagonal line effect ? 
(A) Matt 

(C) Plain 

(A) 1000:1 

64. Length and breath ratio of fibre is 

(C) 10000:1 

(A) All of these 

(C) Satin 

() 540 yards 

67 Jute is mainly found in 
(A) West Bengal 

(C) Uttar Pradesh 

(B) Twill 

(C) To insert weft yarn 
(D) None of these 

(D) Satin 

65 Which one of the following is called basic 65. fHf À oH it Np dd haIt weave? 

as 

(B) 100:1 

(A) Knitted fabric 

(D) 10:1 

68 In weaving process, shuttle is used 

(C) Woven fabrics 

(A) Both to insert warp yarn and weft yarn 

(B) Plain 

(D) TwilI 

(B) To insert warp yarn 

(A) Plain 

(C) Satin 

(B) 600 yards 

(D) 840 yards 

68. In English count, one hank consists of how 66. fr c À v tc5 focH YS many yards ? 
(A) 740 yards 

(B) Madhya Pradesh 

(D) Maharashtra 

(B) Non-woven fabric 

(D) None of these 

(A) 

(c) 

68. 

(B) Twill 

(A) 1000:1 

(D) None of these 

(c) 10000:1 

? 

(A) ft 
(c) f 

(A) 740 ys 
(c) 540 ys 

(C) GrR YCT 

69. Fabrics made directly from fibres are known 69. $ GÌ E q 

(8) cátei 
(D) if 

(A) taT 

(B) 100:1 

(c) f 

(D) 10:1 

Page: 14 

(B) 

70. Which weave is used in denim cloths70. f4 yS À HH|JE H Ì ig o generally ? 

(D) Zte 

(B) 600 yTs 

(D) 840 Ts 

(B) H YcT 

(D) HSIRT% 

(B) cti 

7 

6243 



71. When twist is increased in spun yarn, its71. 
strength 
(A) Increases 

(C) does not change 

(D) first increase then decrease 

72. Objective of sizing in weaving process is 
(A) To decrease lusture of yarn 

(B) To decrease strength of yarn 

(B) Decreases 

(c) To improve strength of yarn 

(D) To improve lusture of yarn 

73. Which knot is used in textile industry ? 
(A) Weavers knot (B) Warpers knot 

(C) Both Weavers and Warpers knot 

(D) None of these 

T4 Yarn count of silk is expressed in 
(A) Ne (B) D 

(9 None of these 

(A) 4 

75 In twill weave, how many numbers of yarn 76. 
required (minimum) ? 

(C) 1 

(D) Tex 

() Sisal 

(B) 2 

(D) 3 

(B) Nylon 
(D) Silk 

7. Kanpur is known for which industry ? 
(A) Cotton textile industry 

(8) Wollen textile industry 

(A) qiI 

() Brass industry (D) None of these 

(A) Ne 
(c) gÀ 

(A) 4 

76 Which one of the following is the leaf fibre ?76. ffefgT oT HI yt I0 
(A) None of these 

3ATGYLHT adt (1TH) ? 

(C) 1 

(B) D 

(c) fHG 

1È (D) Tex 

Pag: 15 

(B) 2 

(D) 3 

(D) fIc 

(D) gTÀ 0 
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fo Which one of the following is primary 78. ff H H A46 T E ? 

colour? 

(A) Yeliow 

(C) All 

79. Counting glass is used for 
(A) To count EPI 

(D) None of these 

(C) Both To count EPl and PPI. 

(A) Red soil 
(C) Yellow soil 

fibre is 

(A) 14% 

() 16% 

82 TPI stands for 
(A) None of these 

() Twist Per Inch 

(B) Red 

(D) Blue 

B4. 1 ibs is equals to 
(A) 490.59 gms 

(C) 453.59 gms. 

(B) To count PPI 

80 Which one of the following is called cotton 80. fffg oT Ì yH HeT pIGt 

soil ? 

in water ? 

(A) Basic dye 

(B) Black soil 

(C) Acid dye 

(D) None of these 

(B) 8.5% 

83 Dyeing of polyester is carried out by using 
(A) Direct dyes (B) Disperse dyes 
(C) None of these (D) Acid dyes 

81 The moisture regain percentage of cotton 81. 4H e T TÌ aifT pt I 

(D) 20% 

(B) Teeth Per Inch 

(D) Tension Per lnch 

(B) 590.59 gms 

(D) 553.59 gms 

(A) gtl 

(C) 

(B) Vat dye 

(A) EPI o frt 

(D) None of these 

(B) PPI f 

83 

(c) EPI a PPI 

? 

(A) 14% 

(C) 16% 

82. TPI TIY 

(A) SINc GRI 

84. 1 lbs IAR BldI 
(A) 490.59 H 

(C) 453.59 H 

(B) 

85 Which one of the following dye is insoluble 85. fff oH 

(C) fr 

(D) tI 

fAy 

Page: 16 

fy 

l 

i o fr f 

(B) 8.5% 

(D) 20% 

(B) 590.59 TH 

(D) 553.59 H 

(B) gT 

624 

(B) fyf GIRT 
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86 Primary motion of loom consist of 
(A) All 

(C) Shedding 

(A) Azo dyes 
87. Which dye is used to dye Nylon fibres ? 

(C) Acid dyes 

(A) Plain 

(C) Satin 

(B) Beating 

(C) Water-proof jacket 

(D) Picking 

(D) None of these 

(B) Vat dyes 

(D) Basic dyes 

89 Kevlar fibre is used for making 

R8 Which type of weave produce lustrous88 oH ft fta py GE THhR 
surface ? 

(A) Bullet-proof jacket (8) Fire-proof jacket 

(8) Twill 

(B) None of these 

(D) AlI 

0 Hygrometers are used for determining 
(A) R.H. 

(C) Moisture Regain (D) Temperature 

motion in loom ? 

(A) Secondary 

() None of these 

(B) Moisture content 

91 in stock port system reed count is equals to 

(A) Numbers of dent per inch 

(9 Numbers of dent per two inch 

(D) Numbers of dent per three inch 

86. 

(A) rt 

(8) Auxiliary 

(D) Primary 

(C) fa 

(A) tt 
(c) f 

(A) 34TR.a. ot 

(D) AIY ot 

(8) fife 

(A) fefr 

(D) fafaT 

2 Take-up is categorised in which type of |92 -4 H foI HNT H HIGI 

Pag: 17 

(B) � 

(B) zt 
(D) r 

(B) TA 

624315 



33 Which one of the following is regenerated 93 Aafafa ~ 
(A) faroI RUTT 

fibre ? 

(A) Viscose Rayon 

(C) Polyester 

Which one of the following warping 4 

machine is used to manufacture stripe 

(C) Peg warping 

(A) Sectional warping (B) Direct warping 

3 

(A) Finished fabric 

(C) Bleached fabric 

highest speed ? 
(A) Rapier loom 

95 The fabric come out from the loom is known 95. H Mo Y Hy$ a 

() Water jet 

(A) Silk 

(8) Nylon 

(C) Viscose 

(D) Cotton 

IS used? 

(A) Ringframe 

() None of these 

* Which one of the foilowing loom runs at 96. ffy T HI G� 3H)oH T 

{c) Blow room 

(B) None of these 

(D) Grey fabric 

(B) To impart lusture 

(B) Shuttile loom 

(D) Air-jet loom 

in which of the following machine traveller 98. 

g Which of the following is longest natural97. ftG oH H HGR TET HIpfdo 
fibre? 

(B) Jute 

(D) Cotton 

(B) Drawframe 

(D) Carding 

Objective of scouring process is 

() ifeyeR 

(A) To remove natural impurities 

(C) To impart strength (D) None of these 

TdI ? 
(A) fQR H 

? 

(A) RI 

(c) faaT 

(B) r0T 
H I RTRTS T }? 

(D) 4T 

(A) fR H 

(c) s 

(B) STUre qft 

(B) qHo I 

Page: 18 

(D) tbfs 

(B) cd H 

(D) -oe H 

(B) C 
(D) q 

(B) GI H 
(D) fT 

6243/ 
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10. In textile industry, which section produce 100. a Jam À, I fgHT G GT 
maximum water pollution ? 

(A) Dyeing 
(C) Weaving 

(B) Spinning 

(D) Printing 
(A) ÝIS 
(C) q 

Page: 19 

(B) 1IS 
(D) By 

6243|5 
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